

Scientific Inquiry and Review (SIR)

Volume 6 Issue 3, 2022

ISSN (P): 2521-2427, ISSN (E): 2521-2435

Homepage: <https://journals.umt.edu.pk/index.php/SIR>



Article QR



Title: Extension of Some Common Fixed-Point Theorems in Neutrosophic Metric Spaces Via Control Function

Author (s): Usman Ali¹, Umar Ishtiaq², Zill E Shams^{1,3}, Khaleel Ahmad⁴, Mohammad Irfan Haider¹, Muhammad Zeeshan Shafi⁵

Affiliation (s): ¹Centre for Advanced Studies in Pure and Applied Mathematics Bahauddin Zakariya University, Multan, Pakistan

²Office of Research, Innovation and Commercialization, University of Management and Technology, Lahore, Pakistan.

³Department of Mathematics the Women University Multan, Pakistan.

⁴International Islamic University Islamabad, Pakistan


⁵Department of Computer Science, Islamia University of Bahawalpur, Pakistan

DOI: <https://doi.org/10.32350/sir.63.02>

History: Received: November 30, 2021, Reviewed: May 20, 2022, Accepted: June 30, 2022, Published: September 15, 2022

Citation: Ali U, Ishtiaq U, Shams ZE, Ahmad K, Haider MI, Shafi MZ. Extension of some common fixed-point theorems in Neutrosophic metric spaces via control function. *Sci Inquiry Rev.* 2022;6(3):19-45. <https://doi.org/10.32350/sir.63.02>

Copyright: © The Authors

Licensing:  This article is open access and is distributed under the terms of [Creative Commons Attribution 4.0 International License](https://creativecommons.org/licenses/by/4.0/)

Conflict of Interest: Author(s) declared no conflict of interest



A publication of
The School of Science
University of Management and Technology, Lahore, Pakistan

Extension of Some Common Fixed-Point Theorems in Neutrosophic Metric Spaces Via Control Function

Usman Ali¹, Umar Ishtiaq², Zill E Shams^{1,3}, Khaleel Ahmad^{4*},
Mohammad Irfan Haider¹, and Muhammad Zeeshan Shafi⁵

¹Centre for Advanced Studies in Pure and Applied Mathematics,
Bahauddin Zakariya University, Multan, Pakistan

²Office of Research, Innovation and Commercialization, University of
Management and Technology, Lahore, Pakistan.

³Department of Mathematics the Women University Multan, Pakistan.

⁴Department of Mathematics and statistics,
International Islamic University Islamabad, Pakistan

⁵Department of Computer Science, Islamia University of Bahawalpur, Pakistan

* khalil7066616@gmail.com

ABSTRACT

The aim of this paper is to prove some important fixed-point theorems in the context of the neutrosophic metric space, which is a generalization of the fuzzy Banach fixed-point theorem, by utilizing the control function. Also, certain fixed-point theorems in the G -complete neutrosophic metric space are proved and discussed by utilizing the alternating distance function (ADF) and defined neutrosophic (Φ, Ψ) -weak contraction. The current study supports the results with some non-trivial examples. Furthermore, it also supports the main result with an application of the Fredholm integral equation.

Keywords: fixed-point, control function, neutrosophic metric space, (Φ, Ψ) -weak contraction

INTRODUCTION

The idea of fuzzy sets (FSs) was first suggested by Zadeh [1] in 1965. Since then, a number of researchers have thoroughly studied the theory of FSs along with its applications in order to use this notion in topology and analysis. In a similar effort, Atanassov [2] developed the notion of intuitionistic fuzzy sets (IFSs) in 1986 as an extension of FSs. Alaca et al. [3] established the notion of intuitionistic fuzzy metric space (IFMSs) based on the concept of IFSs. As an extension of fuzzy metric space (FMS) in the sense of Kramosil and Michalek [4], Park [5] extended the idea of IFMSs.

In IFMSs, Turkoglu et al. [6] established the compatible maps of types (α) and (β) and established some relations between them.

Khan et al. [7] used the concept of modifying distance in metric fixed-point findings in 1984. In order to cope with the relatively novel kinds of fixed-point issues, both the altering and control functions are used to change the metric distance between two points. When changing distance is involved, the application of specific methods may be necessary since the triangle of inequality is not always immediately relevant. A common fixed-point theorem for weakly compatible maps in IFMSs was established by Sanjay et al. [8]. Also, they discussed some results related to the variants of R-weakly commuting mappings.

Saleem et al. [9] introduced two new classes of mappings known as λ -enriched, strictly pseudocontractive, mappings and ΦT -enriched Lipschitzian mappings in the setup of a real Banach space. Saleem et al. [10] introduced the notion of intuitionistic extended fuzzy b-metric-like spaces and established some fixed-point theorems in their setting. Ali et al. [11] proved various unique fixed-point results for contractive and weakly compatible mappings in the sense of neutrosophic metric spaces (NMSs). Omeri et al. [12, 13] obtained common fixed-point theorems in the neutrosophic cone metric space. Also, the notion of λ -weak contraction was defined by them in the neutrosophic cone metric space by using the idea of alternating distance function (ADF).

Hussain et al. [14] introduced the notions of pentagonal controlled fuzzy metric space and fuzzy controlled hexagonal metric space as generalizations of fuzzy triple controlled metric spaces and fuzzy extended hexagonal b-metric spaces. They also used a control function in fuzzy controlled hexagonal metric space and introduced five non-comparable control functions in pentagonal controlled fuzzy metric spaces. Jhangeer et al. [15] derived Atangana–Baleanu derivative in Riemann–Liouville sense is practiced in the fractional modeling of the weakly non-linear shallow water wave equation. Asjid et al. [16] obtained new traveling wave solutions of the double dispersive equation with a more general mathematical technique known as the direct algebraic extended method. Zhang et al. [17] extended the direct algebraic technique to attain the new exact solitary wave solutions of the nonlinear fractional couple Drinfeld–Sokolov–Wilson system. Asjad et al. [18] investigated the Hirota equation which has a significant role in applied sciences including maritime, coastal engineering,

ocean sciences, and the main sources of environmental action due to energy transportation on floating anatomical structures.

In 2014, Beg et al. [19] established the notion of (Φ, ψ) -weak contraction in the context of IFMSs and derived several FP results by utilizing the ADF. Kirişci and Simsek [20] introduced the neutrosophic metric spaces (NMSs) technique, which addresses membership, non-membership, and naturalness functions. Sowndrarajan et al. [21] presented some FP results for NMSs. For more related results, see [22-24].

In this manuscript, the following contractive condition has been generalized:

$$\frac{1}{\mathcal{M}(\zeta(\varpi), \zeta(\omega), \tau)} - 1 \leq Y \left(\frac{1}{\mathcal{M}(\varpi, \omega, \tau)} - 1 \right).$$

Moreover, certain common fixed-point (CFP) theorems have been established in the context of G-complete NMS using ADF. Additionally, CFP results have been established in the context of NMS for functions that meet a certain inequality involving three control functions (CFs).

Definition 1.1. [22] A binary operation $*$ on $[0, 1]$ is said to be continuous t -norm (CTN) if the following circumstances are fulfilled:

- (T1) $*$ is continuous, commutative, and associative;
- (T2) $\theta * 1 = \forall \theta \in [0,1]$;
- (T3) $\theta * \vartheta \leq c * d$, whenever $\theta \leq c$ and $\vartheta \leq d, \forall \theta, \vartheta, c, d \in [0,1]$.

Definition 1.2. [24] A binary operation \diamond on $[0, 1]$ is said to be continuous t -conorm (CTCN) if (T1)-(T3) and the following condition is fulfilled:

- (T4) $\theta \diamond 0 = \theta, \forall \theta \in [0,1]$.

Definition 1.3. [5] The 5-tuple $(\Omega, \mathcal{M}, \mathcal{N}, *, \diamond)$ is called an IFMSs if Ω is any non-empty set, $*$ is a CTN, \diamond is a CTCN, and \mathcal{M}, \mathcal{N} are FSs on $\Omega^2 \times (0, +\infty)$ fulfilling the following circumstances: for all $\varpi, \omega, \lambda \in \Omega$, and $s, \tau > 0$

- (i) $\mathcal{M}(\varpi, \omega, \tau) + \mathcal{N}(\varpi, \omega, \tau) \leq 1$;
- (ii) $\mathcal{M}(\varpi, \omega, \tau) > 0$;
- (iii) $\mathcal{M}(\varpi, \omega, \tau) = 1 \Leftrightarrow \varpi = \omega$;
- (iv) $\mathcal{M}(\varpi, \omega, \tau) = \mathcal{M}(\omega, \varpi, \tau)$;
- (v) $\mathcal{M}(\varpi, \omega, \tau) * \mathcal{M}(\omega, \lambda, s) \leq \mathcal{M}(\varpi, \lambda, s + \tau)$;

- (vi) $\mathcal{M}(\varpi, \omega, \cdot): (0, +\infty) \rightarrow [0,1]$ is continuous;
- (vii) $\mathcal{N}(\varpi, \omega, \tau) > 0$;
- (viii) $\mathcal{N}(\varpi, \omega, \tau) = 0 \Leftrightarrow \varpi = \omega$;
- (ix) $\mathcal{N}(\varpi, \omega, \tau) = \mathcal{N}(\omega, \varpi, \tau)$;
- (x) $\mathcal{N}(\varpi, \omega, \tau) \diamond \mathcal{N}(\omega, \lambda, s) \geq \mathcal{N}(\varpi, \lambda, s + \tau)$;
- (xi) $\mathcal{N}(\varpi, \omega, \cdot): (0, +\infty) \rightarrow (0,1]$ is continuous.

It shows that $(\mathcal{M}, \mathcal{N})$ is an IFM on Ω .

Definition 1.4. [20] The 6-tuple $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is called an NMS if Ω is any non-empty set, $*$ is a CTN, \diamond is a CTCN, and $\mathcal{M}, \mathcal{N}, \mathcal{O}$ are neutrosophic sets on $\Omega^2 \times (0, +\infty)$ fulfilling the following axioms: for all $\varpi, \omega, \lambda \in \Omega$ and $s, \tau > 0$

- (i) $\mathcal{M}(\varpi, \omega, \tau) + \mathcal{N}(\varpi, \omega, \tau) + \mathcal{O}(\varpi, \omega, \tau) \leq 3$;
- (ii) $\mathcal{M}(\varpi, \omega, \tau) > 0$;
- (iii) $\mathcal{M}(\varpi, \omega, \tau) = 1 \Leftrightarrow \varpi = \omega$;
- (iv) $\mathcal{M}(\varpi, \omega, \tau) = \mathcal{M}(\omega, \varpi, \tau)$;
- (v) $\mathcal{M}(\varpi, \omega, \tau) * \mathcal{M}(\omega, \lambda, s) \leq \mathcal{M}(\varpi, \lambda, s + \tau)$;
- (vi) $\mathcal{M}(\varpi, \omega, \cdot): (0, +\infty) \rightarrow [0,1]$ is continuous;
- (vii) $\mathcal{N}(\varpi, \omega, \tau) > 0$;
- (viii) $\mathcal{N}(\varpi, \omega, \tau) = 0 \Leftrightarrow \varpi = \omega$;
- (ix) $\mathcal{N}(\varpi, \omega, \tau) = \mathcal{N}(\omega, \varpi, \tau)$;
- (x) $\mathcal{N}(\varpi, \omega, \tau) \diamond \mathcal{N}(\omega, \lambda, s) \geq \mathcal{N}(\varpi, \lambda, s + \tau)$;
- (xi) $\mathcal{N}(\varpi, \omega, \cdot): (0, +\infty) \rightarrow (0,1]$ is continuous.
- (xii) $\mathcal{O}(\varpi, \omega, \tau) > 0$;
- (xiii) $\mathcal{O}(\varpi, \omega, \tau) = 0 \Leftrightarrow \varpi = \omega$;
- (xiv) $\mathcal{O}(\varpi, \omega, \tau) = \mathcal{O}(\omega, \varpi, \tau)$;
- (xv) $\mathcal{O}(\varpi, \omega, \tau) \diamond \mathcal{O}(\omega, \lambda, s) \geq \mathcal{O}(\varpi, \lambda, s + \tau)$;
- (xvi) $\mathcal{O}(\varpi, \omega, \cdot): (0, +\infty) \rightarrow (0,1]$ is continuous.

Then, $(\mathcal{M}, \mathcal{N}, \mathcal{O})$ is a neutrosophic metric on Ω .

Definition 1.5. [21] A sequence $\{\varpi_n\}$ in an NMS that converges to $\varpi \in \Omega$ if for each $\tau > 0$,

$$\lim_{n \rightarrow +\infty} \mathcal{M}(\varpi_n, \varpi, \tau) = 1,$$

$$\lim_{n \rightarrow +\infty} \mathcal{N}(\varpi_n, \varpi, \tau) = 0,$$

$$\lim_{n \rightarrow +\infty} \mathcal{O}(\varpi_n, \varpi, \tau) = 0.$$

Then, $\{\varpi_n\}$ is said to be convergent.

Definition 1.6. [21] A sequence $\{\varpi_n\}$ in an NMS. It is called Cauchy if and only if for each $\varkappa \in (0,1)$ and $\tau > 0$ there exists $n_0 \in \mathbb{N}$, such that

$$\mathcal{M}(\varpi_n, \varpi_m, \tau) > 1 - \varkappa,$$

$$\mathcal{N}(\varpi_n, \varpi_m, \tau) < \varkappa,$$

$$\mathcal{O}(\varpi_n, \varpi_m, \tau) < \varkappa.$$

Then, for all $n, m \geq n_0$.

Definition 1.7. [21] An NMS $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is complete if and only if every Cauchy sequence in Ω is convergent.

Definition 1.8. [22] Let ζ and g be two self-mappings which are weakly compatible if they commute at their coincidence points.

Definition 1.9. [7] A mapping $\psi : [0, +\infty) \rightarrow [0, +\infty)$ is an ADF or CF fulfilling the following circumstances:

- (i) ψ is monotonically increasing and continuous;
- (ii) $\psi(\tau) = 0 \Leftrightarrow \tau = 0$.

Furthermore, Khan et al. [7] utilized the concept of CF to demonstrate the following conclusion.

Theorem 1.1. [5] Suppose (Ω, d) be a complete metric space, $\psi : [0, +\infty) \rightarrow [0, +\infty)$ be an ADF, and suppose $\zeta : \Omega \rightarrow \Omega$ be a self-mapping which satisfies the following inequality:

$$\psi(d(\zeta\varpi, \zeta\omega)) \leq c \psi(d(\varpi, \omega))$$

for all $\varpi, \omega \in \Omega$ and for some $0 < c < 1$. Then, ζ has a unique FP.

Definition 1.10. [24] Let $(\Omega, \mathcal{M}, *)$ be an FMS. The mapping $\zeta : \Omega \rightarrow \Omega \times \Omega$ is said to be fuzzy contractive if there exists $Y \in (0,1)$, such that

$$\frac{1}{\mathcal{M}(\zeta(\varpi), \zeta(\omega), \tau)} - 1 \leq Y \left(\frac{1}{\mathcal{M}(\varpi, \omega, \tau)} - 1 \right)$$

for each $\varpi, \omega \in \Omega$, and $\tau > 0$.

Definition 1.11. A function $\Phi : \mathbb{R} \rightarrow \mathbb{R}^+$ verifies the condition * if the following axioms hold:

- (i) $\Phi(\tau) = 0$ if and only if $\tau = 0$;

- (ii) $\Phi(\tau)$ is increasing and $\Phi(\tau) \rightarrow +\infty$ as $\tau \rightarrow +\infty$;
- (iii) Φ is left continuous in $(0, +\infty)$;
- (iv) Φ is continuous at 0.

2. MAIN THEOREMS

In this section, some important results are proved in the sense of NMS. Also, some non-trivial examples are discussed.

Definition 2.1. A sequence $\{\varpi_n\}$ in an NMS $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is called G -Cauchy, if

$$\begin{aligned}\lim_{n \rightarrow +\infty} \mathcal{M}(\varpi_n, \varpi_{n+m}, \tau) &= 1, \\ \lim_{n \rightarrow +\infty} \mathcal{N}(\varpi_n, \varpi_{n+m}, \tau) &= 0, \\ \lim_{n \rightarrow +\infty} \mathcal{O}(\varpi_n, \varpi_{n+m}, \tau) &= 0,\end{aligned}$$

and

$$\forall m \in \mathbb{N}, \tau > 0.$$

Definition 2.2. An NMS $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is called G -Complete if every G -Cauchy sequence in Ω is convergent.

Definition 2.3. A pair of self-mappings (ζ, g) of an NMS $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is called compatible if

$$\begin{aligned}\lim_{n \rightarrow +\infty} \mathcal{M}(\zeta g \varpi_n, g \zeta \varpi_n, \tau) &= 1, \\ \lim_{n \rightarrow +\infty} \mathcal{N}(\zeta g \varpi_n, g \zeta \varpi_n, \tau) &= 0, \\ \lim_{n \rightarrow +\infty} \mathcal{O}(\zeta g \varpi_n, g \zeta \varpi_n, \tau) &= 0.\end{aligned}$$

For every $\tau > 0$, whenever $\{\varpi_n\}$ is a sequence in Ω such that $\lim_{n \rightarrow +\infty} \zeta \varpi_n = \lim_{n \rightarrow +\infty} g \varpi_n = \lambda$ for some $\lambda \in \Omega$.

Definition 2.4. Let $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ be an NMS. The mapping $\zeta: \Omega \rightarrow \Omega \times \Omega$ is called neutrosophic contractive if $\exists Y \in (0, 1)$, such that

$$\begin{aligned}\frac{1}{\mathcal{M}(\zeta(\varpi), \zeta(\omega), \tau)} - 1 &\leq Y \left(\frac{1}{\mathcal{M}(\varpi, \omega, \tau)} - 1 \right), \\ \mathcal{N}(\zeta(\varpi), \zeta(\omega), \tau) &\leq Y \mathcal{N}(\varpi, \omega, \tau), \\ \mathcal{O}(\zeta(\varpi), \zeta(\omega), \tau) &\leq Y \mathcal{O}(\varpi, \omega, \tau),\end{aligned}$$

for each $\varpi, \omega \in \Omega$, and $\tau > 0$.

Definition 2.5. Suppose $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ be an NMS. The mappings $\zeta, \xi: \Omega \rightarrow \Omega$ are called neutrosophic (Φ, ψ) -weak contractions with respect to ζ if $\exists \psi: [0, +\infty) \rightarrow [0, +\infty)$, with $\psi(\varpi) > 0$ for $\varpi > 0$, and $\psi(0) = 0$ and the ADF Φ , such that

$$\Phi\left(\frac{1}{\mathcal{M}(\xi\varpi, \xi\omega, \tau)} - 1\right) \leq \Phi\left(\frac{1}{\mathcal{M}(\zeta\varpi, \zeta\omega, \tau)} - 1\right) - \psi\left(\frac{1}{\mathcal{M}(\zeta\varpi, \zeta\omega, \tau)} - 1\right),$$

$$\Phi(\mathcal{N}(\xi\varpi, \xi\omega, \tau)) \leq \Phi(\mathcal{N}(\zeta\varpi, \zeta\omega, \tau)) - \psi(\mathcal{N}(\zeta\varpi, \zeta\omega, \tau)),$$

$$\Phi(\mathcal{O}(\xi\varpi, \xi\omega, \tau)) \leq \Phi(\mathcal{O}(\zeta\varpi, \zeta\omega, \tau)) - \psi(\mathcal{O}(\zeta\varpi, \zeta\omega, \tau)).$$

It holds for every $\varpi, \omega \in \Omega$, and each $\tau > 0$. Suppose ζ is identity mapping, then the mapping ξ is called neutrosophic (Φ, ψ) -weak contraction.

Theorem 2.1. Suppose $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ be a G -complete NMS and the mappings are $\zeta, \xi: \Omega \rightarrow \Omega$, such that

- i) the range of $\xi\Omega$ is contained in the range of $\zeta\Omega$;
- ii) for $\tau > 0, 0 < c < 1$, the contraction

$$\left(\frac{1}{\mathcal{M}(\xi\varpi, \xi\omega, \Phi(c\tau))} - 1\right) \leq \sigma\left(\frac{1}{\mathcal{M}(\zeta\varpi, \zeta\omega, \Phi(\tau))} - 1\right) - \psi\left(\frac{1}{\mathcal{M}(\zeta\varpi, \zeta\omega, \Phi(\tau))} - 1\right), \quad (2.1)$$

$$\mathcal{N}(\xi\varpi, \xi\omega, \Phi(c\tau)) \leq \sigma\left(\mathcal{N}(\zeta\varpi, \zeta\omega, \Phi(\tau))\right) - \psi\left(\mathcal{N}(\zeta\varpi, \zeta\omega, \Phi(\tau))\right), \quad (2.2)$$

$$\mathcal{O}(\xi\varpi, \xi\omega, \Phi(c\tau)) \leq \sigma\left(\mathcal{O}(\zeta\varpi, \zeta\omega, \Phi(\tau))\right) - \psi\left(\mathcal{O}(\zeta\varpi, \zeta\omega, \Phi(\tau))\right), \quad (2.3)$$

It holds for all $\varpi, \omega \in \Omega$, where $\mathcal{M}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0$ and $\mathcal{N}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0$ and Φ fulfill the Definition 1.11. Moreover, for the ADF ψ and $\alpha, \tau - \sigma(\tau) + \psi(\tau) > 0$ and $(\sigma - \psi)^n(\theta_n) \rightarrow 0, \theta_n \rightarrow 0$ as $n \rightarrow +\infty$; if $\zeta\Omega$ is G -complete subspace of Ω , then there exists a coincidence point of ζ and ξ .

Proof: Take an arbitrary element $\varpi_0 \in \Omega$ and utilizing the condition (i), let $\{\omega_n\}$ be a sequence, such that $\omega_n = \xi\varpi_n = \zeta\varpi_{n+1}$, assuming that $\{\omega_n\}$ is Cauchy. Further, if $\omega_{n-1} = \omega_n$, then there is a coincidence point of ξ and ζ . Suppose $\omega_{n-1} \neq \omega_n$ for all $n \geq 1$, which implies that

$$\mathcal{M}(\omega_{n-1}, \omega_n, \tau) \neq 1,$$

$$\mathcal{N}(\omega_{n-1}, \omega_n, \tau) \neq 0,$$

$$\mathcal{O}(\omega_{n-1}, \omega_n, \tau) \neq 0.$$

That is,

$$\mathcal{M}(\xi\varpi_{n-1}, \xi\varpi_n, \tau) \neq 1 \forall n \geq 1, \forall \tau > 0, \quad (2.4)$$

$$\mathcal{N}(\xi\varpi_{n-1}, \xi\varpi_n, \tau) \neq 0 \forall n \geq 1, \forall \tau > 0, \quad (2.5)$$

$$\mathcal{O}(\xi\varpi_{n-1}, \xi\varpi_n, \tau) \neq 0 \forall n \geq 1, \forall \tau > 0. \quad (2.6)$$

assuming that if possible for some n ,

$$\left(\frac{1}{\mathcal{M}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(c\tau))} - 1 \right) \leq \left(\frac{1}{\mathcal{M}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau))} - 1 \right),$$

$$\mathcal{N}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(c\tau)) \leq \mathcal{N}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau)),$$

$$\mathcal{O}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(c\tau)) \leq \mathcal{O}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau)).$$

By substituting $\varpi = \varpi_n$, $\omega = \varpi_{n+1}$ in inequalities (2.1), (2.2), and (2.3), we get

$$\begin{aligned} & \left(\frac{1}{\mathcal{M}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau))} - 1 \right) \\ & \leq \sigma \left(\frac{1}{\mathcal{M}(\zeta\varpi_n, \zeta\varpi_{n+1}, \Phi(c\tau))} - 1 \right) - \psi \left(\frac{1}{\mathcal{M}(\zeta\varpi_n, \zeta\varpi_{n+1}, \Phi(c\tau))} - 1 \right), \\ & = \sigma \left(\frac{1}{\mathcal{M}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(c\tau))} - 1 \right) - \psi \left(\frac{1}{\mathcal{M}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(c\tau))} - 1 \right), \end{aligned} \quad (2.7)$$

$$\begin{aligned} \mathcal{N}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau)) & \leq \sigma(\mathcal{N}(\zeta\varpi_n, \zeta\varpi_{n+1}, \Phi(c\tau)) - \psi(\mathcal{N}(\zeta\varpi_n, \zeta\varpi_{n+1}, \Phi(c\tau))) \\ & = \sigma(\mathcal{N}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(\tau)) - \psi(\mathcal{N}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(\tau))), \end{aligned} \quad (2.8)$$

$$\begin{aligned} \mathcal{O}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau)) & \leq \sigma(\mathcal{O}(\zeta\varpi_n, \zeta\varpi_{n+1}, \Phi(c\tau)) - \psi(\mathcal{O}(\zeta\varpi_n, \zeta\varpi_{n+1}, \Phi(c\tau))) \\ & = \sigma(\mathcal{O}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(\tau)) - \psi(\mathcal{O}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(\tau))). \end{aligned} \quad (2.9)$$

However, $\tau - \alpha(\tau) + \psi(\tau) > 0$ together with **Eq. (2.7)**, **(2.8)**, and **(2.9)** lead us to a contradiction. Thus, for all n

$$\frac{1}{\mathcal{M}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau))} - 1 < \frac{1}{\mathcal{M}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(c\tau))} - 1, \quad (2.10)$$

$$\begin{aligned} \mathcal{N}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau)) &< \mathcal{N}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(\tau)), \end{aligned} \tag{2.11}$$

$$\mathcal{O}(\xi\varpi_n, \xi\varpi_{n+1}, \Phi(c\tau)) < \mathcal{O}(\xi\varpi_{n-1}, \xi\varpi_n, \Phi(\tau)). \tag{2.12}$$

With the circumstances of Φ , one may have $\tau > 0$, then

$$\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau)) > 0,$$

$$\mathcal{N}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0,$$

$$\mathcal{O}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0.$$

Therefore, using inequalities (2.1), (2.2), and (2.3), we get

$$\begin{aligned} \frac{1}{\mathcal{M}(\omega_0, \omega_1, \Phi(c\tau))} - 1 &= \left(\frac{1}{\mathcal{M}(\xi\varpi_0, \xi\varpi_1, \Phi(c\tau))} - 1 \right) \\ &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(c\tau))} - 1 \right) - \psi \left(\frac{1}{\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(c\tau))} - 1 \right), \end{aligned}$$

$$\begin{aligned} \mathcal{N}(\omega_0, \omega_1, \Phi(c\tau)) &= \mathcal{N}(\xi\varpi_0, \xi\varpi_1, \Phi(c\tau)) \\ &\leq \alpha(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau)) - \psi(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau))), \end{aligned}$$

$$\begin{aligned} \mathcal{O}(\omega_0, \omega_1, \Phi(c\tau)) &= \mathcal{O}(\xi\varpi_0, \xi\varpi_1, \Phi(c\tau)) \\ &\leq \alpha(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau)) - \psi(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau))). \end{aligned}$$

In view of inequalities (2.10), (2.11), and (2.12) the above expression become

$$\begin{aligned} \frac{1}{\mathcal{M}(\xi\varpi_1, \xi\varpi_2, \Phi(c\tau))} - 1 &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau))} - 1 \right) \\ &\quad - \psi \left(\frac{1}{\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau))} - 1 \right) \end{aligned} \tag{2.13}$$

$$\mathcal{N}(\xi\varpi_1, \xi\varpi_2, \Phi(c\tau)) \leq \alpha(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau)) - \psi(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau))), \tag{2.14}$$

$$\mathcal{O}(\xi\varpi_1, \xi\varpi_2, \Phi(c\tau)) \leq \alpha(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau)) - \psi(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau))). \tag{2.15}$$

Again

$$\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\tau)) > 0,$$

which implies

$$\mathcal{M} \left(\zeta \varpi_1, \zeta \varpi_2, \Phi \left(\frac{1}{c} \right) \right) > 0$$

$$\mathcal{N} \left(\zeta \varpi_1, \zeta \varpi_2, \Phi(\tau) \right) > 0,$$

which implies

$$\mathcal{N} \left(\zeta \varpi_1, \zeta \varpi_2, \Phi \left(\frac{1}{c} \right) \right) > 0,$$

$$\mathcal{O} \left(\zeta \varpi_1, \zeta \varpi_2, \Phi(\tau) \right) > 0,$$

which implies

$$\mathcal{O} \left(\zeta \varpi_1, \zeta \varpi_2, \Phi \left(\frac{1}{c} \right) \right) > 0.$$

Therefore, by the application of inequality (2.1), we obtain

$$\begin{aligned} \frac{1}{\mathcal{M}(\omega_0, \omega_1, \Phi(\tau))} - 1 &= \left(\frac{1}{\mathcal{M}(\xi \varpi_0, \xi \varpi_1, \Phi(c\tau))} - 1 \right) \\ &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c}))} - 1 \right) - \psi \left(\frac{1}{\mathcal{M}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c}))} - 1 \right) \end{aligned}$$

$$\begin{aligned} \mathcal{N}(\omega_0, \omega_1, \Phi(\tau)) &= \mathcal{N}(\xi \varpi_0, \xi \varpi_1, \Phi(\tau)) \\ &\leq \alpha \left(\mathcal{N}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c})) \right) - \psi \left(\mathcal{N}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c})) \right), \end{aligned}$$

$$\begin{aligned} \mathcal{O}(\omega_0, \omega_1, \Phi(\tau)) &= \mathcal{O}(\xi \varpi_0, \xi \varpi_1, \Phi(\tau)) \\ &\leq \alpha \left(\mathcal{O}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c})) \right) - \psi \left(\mathcal{O}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c})) \right). \end{aligned}$$

Again, using inequalities (2.10), (2.11), and (2.12) the above equations turn out to be

$$\begin{aligned} \frac{1}{\mathcal{M}(\xi \varpi_1, \xi \varpi_2, \Phi(\tau))} - 1 &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c}))} - 1 \right) \\ &\quad - \psi \left(\frac{1}{\mathcal{M}(\zeta \varpi_1, \zeta \varpi_2, \Phi(\frac{\tau}{c}))} - 1 \right) \end{aligned} \tag{2.16}$$

$$\mathcal{N}(\xi\varpi_1, \xi\varpi_2, \Phi(\tau)) \leq \alpha(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c})) - \psi(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c}))), \quad (2.17)$$

$$\mathcal{O}(\xi\varpi_1, \xi\varpi_2, \Phi(\tau)) \leq \alpha(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c})) - \psi(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c}))), \quad (2.18)$$

By continuing in this manner, one obtains n times

$$\frac{1}{\mathcal{M}(\omega_{n-1}, \omega_n, \Phi(\tau))} - 1 \leq (\sigma - \psi)^n \left(\frac{1}{\mathcal{M}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c^n}))} - 1 \right), \quad (2.19)$$

$$\mathcal{N}(\omega_{n-1}, \omega_n, \Phi(\tau)) \leq (\sigma - \psi)^n \left(\mathcal{N}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c^n})) \right), \quad (2.20)$$

$$\mathcal{O}(\omega_{n-1}, \omega_n, \Phi(\tau)) \leq (\sigma - \psi)^n \left(\mathcal{O}(\zeta\varpi_1, \zeta\varpi_2, \Phi(\frac{\tau}{c^n})) \right). \quad (2.21)$$

Then, using the assumption (ii) which implies that

$$\mathcal{M}(\zeta\varpi_2, \zeta\varpi_3, \Phi(c\tau)) > 0,$$

$$\mathcal{N}(\zeta\varpi_2, \zeta\varpi_3, \Phi(c\tau)) > 0,$$

$$\mathcal{O}(\zeta\varpi_2, \zeta\varpi_3, \Phi(c\tau)) > 0.$$

Similarly, one might get

$$\frac{1}{\mathcal{M}(\omega_{n-1}, \omega_n, \Phi(\tau))} - 1 \leq (\sigma - \psi)^n \left(\frac{1}{\mathcal{M}(\zeta\varpi_2, \zeta\varpi_3, \Phi(\frac{c\tau}{c^n}))} - 1 \right), \quad (2.22)$$

$$\mathcal{N}(\omega_{n-1}, \omega_n, \Phi(c\tau)) \leq (\sigma - \psi)^n \mathcal{N}(\zeta\varpi_2, \zeta\varpi_3, \Phi(\frac{c\tau}{c^n})), \quad (2.23)$$

$$\mathcal{O}(\omega_{n-1}, \omega_n, \Phi(c\tau)) \leq (\sigma - \psi)^n \mathcal{O}(\zeta\varpi_2, \zeta\varpi_3, \Phi(\frac{c\tau}{c^n})). \quad (2.24)$$

Furthermore, for $n > \kappa$, we have

$$\begin{aligned} \frac{1}{\mathcal{M}(\omega_{n-1}, \omega_n, \Phi(c^\kappa\tau))} - 1 & \\ & \leq (\sigma - \psi)^{n-\kappa+1} \left(\frac{1}{\mathcal{M}(\zeta\varpi_{\kappa+1}, \zeta\varpi_{\kappa+2}, \Phi(\frac{c^\kappa\tau}{c^{n-\kappa+1}}))} - 1 \right), \end{aligned} \quad (2.25)$$

$$\mathcal{N}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \leq (\sigma - \psi)^{n-\kappa+1} \mathcal{N}\left(\zeta \bar{\omega}_{\kappa+1}, \zeta \bar{\omega}_{\kappa+2}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right), \quad (2.26)$$

$$\mathcal{O}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \leq (\sigma - \psi)^{n-\kappa+1} \mathcal{O}\left(\zeta \bar{\omega}_{\kappa+1}, \zeta \bar{\omega}_{\kappa+2}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right). \quad (2.27)$$

Assuming $\omega_n = \zeta \bar{\omega}_{n+1}$ and using the inequalities (2.25), (2.26), and (2.27), we get

$$\frac{1}{\mathcal{M}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau))} - 1 \leq (\sigma - \psi)^{n-\kappa+1} \left(\frac{1}{\mathcal{M}\left(\omega_\kappa, \omega_{\kappa+1}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right)} - 1 \right),$$

$$(\sigma - \psi)^{n-\kappa+1} (\theta_n), \text{ where } \theta_n = \left(\frac{1}{\mathcal{M}\left(\omega_\kappa, \omega_{\kappa+1}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right)} - 1 \right), \quad (2.28)$$

$$\mathcal{N}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \leq (\sigma - \psi)^{n-\kappa+1} \mathcal{N}\left(\omega_\kappa, \omega_{\kappa+1}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right),$$

$$= (\sigma - \psi)^{n-\kappa+1} (\partial_n), \text{ where } \partial_n = \mathcal{N}\left(\omega_\kappa, \omega_{\kappa+1}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right), \quad (2.29)$$

$$\mathcal{O}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \leq (\sigma - \psi)^{n-\kappa+1} \mathcal{O}\left(\omega_\kappa, \omega_{\kappa+1}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right),$$

$$= (\sigma - \psi)^{n-\kappa+1} (\partial_n), \text{ where } \partial_n = \mathcal{O}\left(\omega_\kappa, \omega_{\kappa+1}, \Phi\left(\frac{c^\kappa \tau}{c^{n-\kappa+1}}\right)\right). \quad (2.30)$$

Considering the assumption, $(\sigma - \psi)^n (\theta_n) \rightarrow 0$, therefore, $(\theta_n) \rightarrow 0$ as $n \rightarrow +\infty$. $\forall \kappa > 0$

$$\mathcal{M}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \rightarrow 1 \text{ as } n \rightarrow +\infty. \quad (2.31)$$

Likewise, $(\sigma - \psi)^n (\partial_n) \rightarrow 0$, whenever $(\partial_n) \rightarrow 0$ as $n \rightarrow +\infty \forall \kappa > 0$

$$\mathcal{N}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \rightarrow 0 \text{ as } n \rightarrow +\infty. \quad (2.32)$$

Also, $(\sigma - \psi)^n (\partial_n) \rightarrow 0$, whenever $(\partial_n) \rightarrow 0$ as $n \rightarrow +\infty$.
Furthermore, $\forall \kappa > 0$

$$\mathcal{O}(\omega_{n-1}, \omega_n, \Phi(c^\kappa \tau)) \rightarrow 0 \text{ as } n \rightarrow +\infty. \tag{2.33}$$

For $\tau > 0$, one may discover $\kappa > 0$, such that $\Phi(c^\kappa \tau) < \varepsilon$. From (2.31), we obtain that $\mathcal{M}(\omega_{n-1}, \omega_n, \varepsilon) \rightarrow 1$ as $n \rightarrow +\infty$ or

$$\mathcal{M}(\omega_n, \omega_{n+1}, \varepsilon) \rightarrow 1 \text{ as } n \rightarrow +\infty \tag{2.34}$$

and $\mathcal{N}(\omega_{n-1}, \omega_n, \varepsilon) \rightarrow 1$ as $n \rightarrow +\infty$ or

$$\mathcal{N}(\omega_n, \omega_{n+1}, \varepsilon) \rightarrow 1 \text{ as } n \rightarrow +\infty \tag{2.35}$$

Similarly, as $\mathcal{O}(\omega_{n-1}, \omega_n, \varepsilon) \rightarrow 1$ as $n \rightarrow +\infty$ or

$$\mathcal{O}(\omega_n, \omega_{n+1}, \varepsilon) \rightarrow 1 \text{ as } n \rightarrow +\infty \tag{2.36}$$

Using the triangular inequality, we have

$$\begin{aligned} \mathcal{M}(\omega_n, \omega_{n+\zeta}, \varepsilon) &\geq \mathcal{M}\left(\omega_n, \omega_{n+1}, \frac{\varepsilon}{\zeta}\right) * \mathcal{M}\left(\omega_{n+1}, \omega_{n+2}, \frac{\varepsilon}{\zeta}\right) * \dots \\ &\quad * \mathcal{M}\left(\omega_{n+\zeta}, \omega_{n+\zeta+1}, \frac{\varepsilon}{\zeta}\right), \end{aligned}$$

$$\mathcal{N}(\omega_n, \omega_{n+\zeta}, \varepsilon) \leq \mathcal{N}\left(\omega_n, \omega_{n+1}, \frac{\varepsilon}{\zeta}\right) \diamond \mathcal{N}\left(\omega_{n+1}, \omega_{n+2}, \frac{\varepsilon}{\zeta}\right) \diamond \dots \diamond \mathcal{N}\left(\omega_{n+\zeta}, \omega_{n+\zeta+1}, \frac{\varepsilon}{\zeta}\right),$$

$$\mathcal{O}(\omega_n, \omega_{n+\zeta}, \varepsilon) \leq \mathcal{O}\left(\omega_n, \omega_{n+1}, \frac{\varepsilon}{\zeta}\right) \diamond \mathcal{O}\left(\omega_{n+1}, \omega_{n+2}, \frac{\varepsilon}{\zeta}\right) \diamond \dots \diamond \mathcal{O}\left(\omega_{n+\zeta}, \omega_{n+\zeta+1}, \frac{\varepsilon}{\zeta}\right)$$

As limit $n \rightarrow +\infty$ in the above inequalities and also using (2.34), (2.35), and (2.36), we get

$$\mathcal{M}(\omega_n, \omega_{n+\zeta}, \varepsilon) \rightarrow 1,$$

$$\mathcal{N}(\omega_n, \omega_{n+\zeta}, \varepsilon) \rightarrow 0,$$

$$\mathcal{O}(\omega_n, \omega_{n+\zeta}, \varepsilon) \rightarrow 0.$$

It implies that $\{\omega_n\}$ is a G -Cauchy sequence. Since $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is G -complete, then $\{\omega_n\}$ is convergent, and hence $\exists \lambda \in \Omega$, such that $\omega_n \rightarrow \lambda$ as $n \rightarrow +\infty$,

$$\omega_n = \xi \bar{\omega}_n = \zeta \bar{\omega}_{n+1} \rightarrow \lambda.$$

Suppose that $v \in \Omega$, such that $\zeta v = \lambda$. Here, we find that v is the coincidence point of ξ and ζ . However, it is sufficient that $\xi v = \lambda$. Then,

$$\mathcal{M}(\xi v, \lambda, \varepsilon) \geq \mathcal{M}\left(\xi v, \omega_n, \frac{\varepsilon}{2}\right) * \mathcal{M}\left(\omega_n, \lambda, \frac{\varepsilon}{2}\right). \tag{2.37}$$

Using the Definition 1.11, we can find a $\tau_2 > 0$, such that $\varphi(\tau_2) < \frac{\varepsilon}{2}$. Since $\omega_n \rightarrow z$ as $n \rightarrow +\infty$, then there exists $\varepsilon > 0$ for all $n > m$, such that $\mathcal{M}(\xi v, \omega_n, \lambda, \varphi(\tau_2)) > 0$. Therefore, by contraction (2) we have $n > m$

$$\begin{aligned} \frac{1}{\mathcal{M}(\xi v, \omega_n, \frac{\varepsilon}{2})} - 1 &= \frac{1}{\mathcal{M}(\xi v, \xi \varpi_n, \varphi(\tau_2))} - 1 \\ &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta v, \zeta \varpi_{n+1}, \Phi(\frac{\tau_2}{c}))} - 1 \right) \\ &\quad - \psi \left(\frac{1}{\mathcal{M}(\zeta v, \zeta \varpi_{n+1}, \Phi(\frac{\tau_2}{c}))} - 1 \right). \end{aligned}$$

On using inequality (2.10), we obtain

$$\begin{aligned} \frac{1}{\mathcal{M}(\xi v, \xi \varpi_{n+1}, \varphi(\tau_2))} - 1 &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta v, \zeta \varpi_{n+1}, \Phi(\frac{\tau_2}{c}))} - 1 \right) \\ &\quad - \psi \left(\frac{1}{\mathcal{M}(\zeta v, \zeta \varpi_{n+1}, \Phi(\frac{\tau_2}{c}))} - 1 \right). \end{aligned}$$

As limit $n \rightarrow +\infty$, $\Phi(0) = 0$ use the continuity of ψ and α , one has

$$\mathcal{M}(\xi v, \omega_n, \frac{\varepsilon}{2}) \rightarrow 1 \text{ as } n \rightarrow +\infty. \quad (2.38)$$

Taking $n \rightarrow +\infty$ inequality (2.37) and using (2.38) with the continuity of functions ψ , α , and the fact that $\omega_n \rightarrow z$ as $n \rightarrow +\infty$, we get $\mathcal{M}(\xi v, \omega_n, \varepsilon) = 1$. In a similar way, we can find $\mathcal{N}(\xi v, \omega_n, \varepsilon) = 0$ and $\mathcal{O}(\xi v, \omega_n, \varepsilon) = 0$ for every $\varepsilon > 0$. It follows that

$$\xi v = \lambda. \quad (2.39)$$

Thus,

$$\zeta v = \xi v = \lambda.$$

Theorem 2.2. Let the assumptions used in the Theorem 2.1, then the coincidence point λ becomes the CFP of ξ and ζ which is unique if the pair (ζ, ξ) is weakly compatible.

Proof: Using **Eq. (40)**, we have the coincidence point v and $\zeta v = \xi v = \lambda$. So, the pair (ζ, ξ) is weakly compatible, thus

$$\zeta\lambda = \zeta\xi v = \xi\zeta v = \xi\lambda.$$

It is to be demonstrated this λ is a CFP of ξ and ζ . Again,

$$\mathcal{M}(\xi\lambda, \lambda, \varepsilon) \geq \mathcal{M}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right) * \mathcal{M}\left(\omega_n, \lambda, \frac{\varepsilon}{2}\right), \tag{2.40}$$

$$\mathcal{N}(\xi\lambda, \lambda, \varepsilon) \leq \mathcal{N}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right) \diamond \mathcal{N}\left(\omega_n, \lambda, \frac{\varepsilon}{2}\right), \tag{2.41}$$

$$\mathcal{O}(\xi\lambda, \lambda, \varepsilon) \leq \mathcal{O}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right) \diamond \mathcal{O}\left(\omega_n, \lambda, \frac{\varepsilon}{2}\right). \tag{2.42}$$

From the property of Φ -function, one may find a $\tau_3 > 0$, such as $(\tau_3) < \frac{\varepsilon}{2}$ and $\omega_n \rightarrow z$ as $n \rightarrow +\infty$, hence $\exists m \in \mathcal{N} \forall n > m$,

$$\mathcal{M}(\omega_n, \lambda, (\tau_3)) > 0,$$

$$\mathcal{N}(\omega_n, \lambda, (\tau_3)) > 0,$$

$$\mathcal{O}(\omega_n, \lambda, (\tau_3)) > 0.$$

Then, for $n > m$,

$$\begin{aligned} \frac{1}{\mathcal{M}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right)} - 1 &= \frac{1}{\mathcal{M}\left(\xi\lambda, \xi\omega_n, \varphi(\tau_3)\right)} - 1 \\ &\leq \alpha \left(\frac{1}{\mathcal{M}\left(\zeta\lambda, \zeta\omega_{n+1}, \Phi\left(\frac{\tau_3}{c}\right)\right)} - 1 \right) \\ &\quad - \psi \left(\frac{1}{\mathcal{M}\left(\zeta\lambda, \zeta\omega_{n+1}, \Phi\left(\frac{\tau_3}{c}\right)\right)} - 1 \right). \end{aligned}$$

This is obvious from inequality **(2.1)**. Applying inequalities **(2.10)**, **(2.11)**, and **(2.12)**, we get

$$\begin{aligned} & \frac{1}{\mathcal{M}(\xi\lambda, \xi\varpi_n, \varphi(\tau_3))} - 1 \\ & \leq \alpha \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\varpi_{n+1}, \Phi(\frac{\tau_3}{c}))} - 1 \right) \\ & \quad - \psi \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\varpi_{n+1}, \Phi(\frac{\tau_3}{c}))} - 1 \right), \end{aligned}$$

and

$$\mathcal{N}(\xi\lambda, \xi\varpi_n, \varphi(\tau_3)) \leq \alpha \mathcal{N}(\zeta\lambda, \zeta\varpi_{n+1}, \Phi(\frac{\tau_3}{c})) - \psi \mathcal{N}(\zeta\lambda, \zeta\varpi_{n+1}, \Phi(\frac{\tau_3}{c})),$$

$$\mathcal{O}(\xi\lambda, \xi\varpi_n, \varphi(\tau_3)) \leq \alpha \mathcal{O}(\zeta\lambda, \zeta\varpi_{n+1}, \Phi(\frac{\tau_3}{c})) - \psi \mathcal{O}(\zeta\lambda, \zeta\varpi_{n+1}, \Phi(\frac{\tau_3}{c}))$$

Using the limit $n \rightarrow +\infty$ with the help of Definition 1.11, we have

$$\mathcal{M}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right) \rightarrow 1 \text{ as } n \rightarrow +\infty, \quad (2.43)$$

$$\mathcal{N}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right) \rightarrow 1 \text{ as } n \rightarrow +\infty, \quad (2.44)$$

and

$$\mathcal{O}\left(\xi\lambda, \omega_n, \frac{\varepsilon}{2}\right) \rightarrow 1 \text{ as } n \rightarrow +\infty. \quad (2.45)$$

Similarly, taking $n \rightarrow +\infty$ in inequalities (2.40), (2.41), and (2.42), using (2.43), (2.44), and (2.45) with the continuity of α and the fact that $\omega_n \rightarrow \mathbf{z}$ as $n \rightarrow +\infty$, it is clear that

$$\mathcal{M}(\xi\lambda, \lambda, \varepsilon) = 1, \forall \varepsilon > 0,$$

$$\mathcal{N}(\xi\lambda, \lambda, \varepsilon) = 0, \forall \varepsilon > 0,$$

$$\mathcal{O}(\xi\lambda, \lambda, \varepsilon) = 0, \forall \varepsilon > 0.$$

Thus, $\xi\lambda = \lambda$. We prove that $\zeta\lambda = \xi\lambda = \lambda$. Then, λ is a CFP of ζ and ξ . Finally, the uniqueness of the CPF is shown. Suppose λ' is any other FP. Then, it needs to be shown that $\lambda = \lambda'$

$$\mathcal{M}(\lambda, \lambda', \Phi(s)) > 0,$$

$$\mathcal{N}(\lambda, \lambda', \Phi(s)) > 0,$$

$$\mathcal{O}(\lambda, \lambda', \Phi(s)) > 0.$$

Using the inequality (2.1),

$$\begin{aligned} \frac{1}{\mathcal{M}(\lambda, \lambda', \Phi(cs))} - 1 &= \frac{1}{\mathcal{M}(\xi\lambda, \xi\lambda', \Phi(cs))} - 1 \\ &\leq \alpha \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\lambda', \Phi(s))} - 1 \right) - \psi \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\lambda', \Phi(s))} - 1 \right), \end{aligned} \quad (2.46)$$

$$\begin{aligned} \mathcal{N}(\lambda, \lambda', \Phi(cs)) &= \mathcal{N}(\xi\lambda, \xi\lambda', \Phi(cs)) \\ &\leq \alpha \left(\mathcal{N}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right) - \psi \left(\mathcal{N}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right), \\ &\leq \alpha \left(\mathcal{N}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right) - \psi \left(\mathcal{N}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right), \end{aligned} \quad (2.47)$$

$$\begin{aligned} \mathcal{O}(\lambda, \lambda', \Phi(cs)) &= \mathcal{O}(\xi\lambda, \xi\lambda', \Phi(cs)) \leq \alpha \left(\mathcal{O}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right) - \psi \left(\mathcal{O}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right), \\ &\leq \alpha \left(\mathcal{O}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right) - \psi \left(\mathcal{O}(\zeta\lambda, \zeta\lambda', \Phi(s)) \right), \end{aligned} \quad (2.48)$$

Also, $\mathcal{M}(\zeta\lambda, \zeta\lambda', \Phi(s)) > 0$ implies that $\mathcal{M}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) > 0$, $\mathcal{N}(\zeta\lambda, \zeta\lambda', \Phi(s)) > 0$ implies that $\mathcal{N}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) > 0$, and $\mathcal{O}(\zeta\lambda, \zeta\lambda', \Phi(s)) > 0$ implies that $\mathcal{O}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) > 0$. Here, replacing s by $\frac{s}{c}$ in the above inequalities (2.46), (2.47), and (2.48), we get

$$\frac{1}{\mathcal{M}(\lambda, \lambda', \Phi(s))} - 1 \leq \alpha \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right))} - 1 \right) - \psi \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right))} - 1 \right),$$

$$\mathcal{N}(\lambda, \lambda', \Phi(s)) \leq \alpha \left(\mathcal{N}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) \right) - \psi \left(\mathcal{N}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) \right),$$

and

$$\mathcal{O}(\lambda, \lambda', \Phi(s)) \leq \alpha \left(\mathcal{O}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) \right) - \psi \left(\mathcal{O}\left(\zeta\lambda, \zeta\lambda', \Phi\left(\frac{s}{c}\right)\right) \right),$$

Repeating the above n-times, we get

$$\frac{1}{\mathcal{M}(\lambda, \lambda', \Phi(s))} - 1 \leq (\sigma - \psi)^n \left(\frac{1}{\mathcal{M}(\zeta\lambda, \zeta\lambda', \Phi(\frac{s}{c}))} - 1 \right),$$

$$= (\sigma - \psi)^n(\theta_n)$$

$$\mathcal{N}(\lambda, \lambda', \Phi(s)) \leq (\sigma - \psi)^n \left(\mathcal{N}(\zeta\lambda, \zeta\lambda', \Phi(\frac{s}{c})) \right),$$

$$= (\sigma - \psi)^n(\partial_n)$$

$$\mathcal{O}(\lambda, \lambda', \Phi(s)) \leq (\sigma - \psi)^n \left(\mathcal{O}(\zeta\lambda, \zeta\lambda', \Phi(\frac{s}{c})) \right),$$

$$= (\sigma - \psi)^n(\partial_n)$$

As $n \rightarrow +\infty$ $(\sigma - \psi)^n(\theta_n) \rightarrow 0$ and $(\sigma - \psi)^n(\partial_n) \rightarrow 0$, we have

$$\begin{aligned} \mathcal{M}(\lambda, \lambda', \Phi(s)) &= 1, \forall s > 0, \mathcal{N}(\lambda, \lambda', \Phi(s)) = 0, \forall s \\ &> 0, \mathcal{O}(\lambda, \lambda', \Phi(s)) = 0, \forall s > 0. \end{aligned}$$

Again, from inequalities (2.46), (2.47), and (2.48), it follows that $\mathcal{M}(\lambda, \lambda', \Phi(cs)) > 0$, $\mathcal{N}(\lambda, \lambda', \Phi(cs)) > 0$, and $\mathcal{O}(\lambda, \lambda', \Phi(cs)) > 0$. When the arguments are similar then s is changed by cs , we get

$$\mathcal{M}(\lambda, \lambda', \Phi(cs)) = 1, \mathcal{N}(\lambda, \lambda', \Phi(cs)) = 0, \mathcal{O}(\lambda, \lambda', \Phi(cs)) = 0.$$

Generally, $\mathcal{M}(\lambda, \lambda', \Phi(c^n s)) = 1$, $\mathcal{N}(\lambda, \lambda', \Phi(c^n s)) = 0$ and $\mathcal{O}(\lambda, \lambda', \Phi(c^n s)) = 0 \forall n \in \mathbb{N} \cup \{0\}$. Clearly, for any given $\varepsilon > 0$ there exists $\varkappa \in \mathbb{N} \cup \{0\}$, such that $\Phi(c^\varkappa s) < \varepsilon$. From the foregoing analysis, we get $\mathcal{M}(\lambda, \lambda', \varepsilon) = 1$, $\mathcal{N}(\lambda, \lambda', \varepsilon) = 0$, and $\mathcal{O}(\lambda, \lambda', \varepsilon) = 0$. For all $\varepsilon > 0$, which implies that

$$\lambda = \lambda',$$

Hence, it completes the proof.

Corollary 2.1. Suppose $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ be a G -complete NMS and the mapping $\zeta, : \Omega \rightarrow \Omega$, such that for $\tau > 0$, $0 < c < 1$, the contraction

$$\mathcal{M}(\zeta\varpi, \zeta\omega, \Phi(\tau)) \leq \mathcal{M}(\varpi, \omega, \tau),$$

$$\mathcal{N}(\zeta\varpi, \zeta\omega, \Phi(\tau)) \leq \mathcal{N}(\varpi, \omega, \tau),$$

$$\mathcal{O}(\zeta\varpi, \zeta\omega, \Phi(\tau)) \leq \mathcal{O}(\varpi, \omega, \tau),$$

holds for all $\varpi, \omega \in \Omega$, where $\mathcal{M}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0$, $\mathcal{N}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0$ and $\mathcal{O}(\zeta\varpi, \zeta\omega, \Phi(\tau)) > 0$, and Φ fulfill the **Definition 2.6**. If $\zeta\Omega$ is G -complete subspace of Ω , then there exists a coincidence point of ζ .

Example 2.1. Let $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ be a complete NMS, where $\Omega = \{\varpi_1, \varpi_2, \varpi_3\}$

$\theta \diamond \partial = \max\{\theta, \partial\}$, $\theta * \partial = \min\{\theta, \partial\}$, and $\mathcal{M}(\varpi, \omega, \tau)$ be defined as

$$\mathcal{M}(\varpi_2, \varpi_3, \tau) = \mathcal{M}(\varpi_3, \varpi_2, \tau) = \begin{cases} 0, & \text{if } \tau = 0 \\ 0.8, & \text{if } 0 < \tau < 3 \\ 1, & \text{if } \tau \geq 3 \end{cases}$$

$$\mathcal{N}(\varpi_2, \varpi_3, \tau) = \mathcal{N}(\varpi_3, \varpi_2, \tau) = \begin{cases} 1, & \text{if } \tau = 0 \\ \frac{1}{2}, & \text{if } 0 < \tau < 3 \\ 0, & \text{if } \tau \geq 3 \end{cases}$$

$$\mathcal{O}(\varpi_2, \varpi_3, \tau) = \mathcal{O}(\varpi_3, \varpi_2, \tau) = \begin{cases} 1, & \text{if } \tau = 0 \\ \frac{1}{4}, & \text{if } 0 < \tau < 3 \\ 0, & \text{if } \tau \geq 3 \end{cases}$$

$$\begin{aligned} \mathcal{M}(\varpi_1, \varpi_3, \tau) &= \mathcal{M}(\varpi_3, \varpi_1, \tau) = \mathcal{M}(\varpi_1, \varpi_2, \tau) = \mathcal{M}(\varpi_2, \varpi_1, \tau) \\ &= \begin{cases} 0, & \text{if } \tau = 0 \\ 1, & \text{if } \tau > 0 \end{cases} \end{aligned}$$

$$\begin{aligned} \mathcal{N}(\varpi_1, \varpi_3, \tau) &= \mathcal{N}(\varpi_3, \varpi_1, \tau) = \mathcal{N}(\varpi_1, \varpi_2, \tau) = \mathcal{N}(\varpi_2, \varpi_1, \tau) \\ &= \begin{cases} 1, & \text{if } \tau = 0 \\ 0, & \text{if } \tau > 0 \end{cases} \end{aligned}$$

$$\begin{aligned} \mathcal{O}(\varpi_1, \varpi_3, \tau) &= \mathcal{O}(\varpi_3, \varpi_1, \tau) = \mathcal{O}(\varpi_1, \varpi_2, \tau) = \mathcal{O}(\varpi_2, \varpi_1, \tau) \\ &= \begin{cases} 1, & \text{if } \tau = 0 \\ 0, & \text{if } \tau > 0. \end{cases} \end{aligned}$$

The mappings $\xi, \zeta: \Omega \rightarrow \Omega$ are defined as $\xi(\varpi_1) = \varpi_1$; $\xi(\varpi_2) = \varpi_3$; $\xi(\varpi_3) = \varpi_1$; $\zeta(\varpi_1) = \varpi_1$; $\zeta(\varpi_2) = \varpi_3$; $\zeta(\varpi_3) = \varpi_2$; and if $\Phi(\tau) = \tau$, $\psi(\tau) = \frac{\tau}{6}$ and $\alpha(\tau) = \tau$ and $c = \frac{1}{2}$. Clearly, the circumstances of Theorem 2.1 are fulfilled and (ζ, ξ) are also weakly compatible. Hence, ϖ_1 is the unique CFP of ζ and ξ .

Example 2.2. Suppose $\Omega = [0, +\infty)$ and $\theta * \partial = \min\{\theta, \partial\}$, $\theta \diamond \partial = \max\{\theta, \partial\}$, and

$$\mathcal{M}(\varpi, \omega, \tau) = \frac{\tau}{\tau + |\varpi - \omega|},$$

$$\mathcal{N}(\varpi, \omega, \tau) = \frac{|\varpi - \omega|}{\tau + |\varpi - \omega|},$$

$$\mathcal{O}(\varpi, \omega, \tau) = \frac{|\varpi - \omega|}{\tau}.$$

For all $\varpi, \omega \in \Omega$ and $\tau > 0$. Then, $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is a complete NMS. Let $\xi, \zeta: \Omega \rightarrow \Omega$ be given respectively by the formulas $\xi\varpi = \frac{\varpi}{3}$ and $\zeta\varpi = \varpi$ for all $\varpi \in \Omega$. Let $\psi, \alpha: [0, +\infty) \rightarrow [0, +\infty)$ be given respectively by the following formulas:

$$\text{if } \Phi(\tau) = \tau, \quad \psi(\tau) = \frac{\tau}{6} \text{ and } \alpha(\tau) = \tau \text{ and } c = \frac{1}{2}.$$

Then, clearly, $\xi\Omega \subseteq \zeta\Omega$. For all $\varpi, \omega \in [0, +\infty)$, and $\tau > 0$, inequality (2.1) reduces to

$$\frac{|\xi(\varpi) - \xi(\omega)|}{\frac{\tau}{2}} \leq \alpha\left(\frac{|\zeta(\varpi) - \zeta(\omega)|}{\tau}\right) - \psi\left(\frac{|\zeta(\varpi) - \zeta(\omega)|}{\tau}\right) \quad (2.49)$$

$$\frac{|\xi(\varpi) - \xi(\omega)|}{\frac{\tau}{2} + |\xi(\varpi) - \xi(\omega)|} \leq \alpha\left(\frac{|\zeta(\varpi) - \zeta(\omega)|}{\tau + |\zeta(\varpi) - \zeta(\omega)|}\right) - \psi\left(\frac{|\zeta(\varpi) - \zeta(\omega)|}{\tau + |\zeta(\varpi) - \zeta(\omega)|}\right) \quad (2.50)$$

$$\frac{|\xi(\varpi) - \xi(\omega)|}{\frac{\tau}{2}} \leq \alpha\left(\frac{|\zeta(\varpi) - \zeta(\omega)|}{\tau}\right) - \psi\left(\frac{|\zeta(\varpi) - \zeta(\omega)|}{\tau}\right) \quad (2.51)$$

Since, $\xi(\varpi) - \xi(\omega) = \frac{1}{3}(\varpi - \omega)$ and $\zeta(\varpi) - \zeta(\omega) = (\varpi - \omega)$, so by substituting the values in inequalities (2.49), (2.50), and (2.51)

$$\frac{2}{3\tau} |(\varpi - \omega)| \leq \left(\frac{1}{\tau} |(\varpi - \omega)|\right) - \left(\frac{1}{6\tau} |(\varpi - \omega)|\right),$$

$$\frac{2}{3\tau} |(\varpi - \omega)| \leq \frac{5}{3\tau} |(\varpi - \omega)|.$$

$$\frac{|\varpi - \omega|}{\frac{2}{3\tau} + |(\varpi - \omega)|} \leq \frac{|\varpi - \omega|}{\tau + |\varpi - \omega|} - \frac{|\varpi - \omega|}{\frac{\tau}{6} + |\varpi - \omega|}.$$

and

$$\frac{|\varpi - \omega|}{\frac{2}{3\tau}} \leq \frac{|\varpi - \omega|}{\tau} - \frac{|\varpi - \omega|}{\frac{\tau}{6}},$$

$$\frac{3\tau}{2} |\varpi - \omega| \leq \frac{|\varpi - \omega|}{\tau} - \frac{6}{\tau} |\varpi - \omega|.$$

Hence, all circumstances of Theorem 2.1 are fulfilled and 0 is a coincident point. Moreover, (ξ, ζ) is a weakly compatible pair of mappings, thus the coincidence point is also the CFP of ξ and ζ .

Example 2.3. Suppose $\Omega = [0, 10]$ and $\theta * \partial = \min\{\theta, \partial\}$, $\theta \diamond \partial = \max\{\theta, \partial\}$ and

$$\mathcal{M}(\varpi, \omega, \tau) = \frac{\tau}{\tau + \max\{\varpi, \omega\}},$$

$$\mathcal{N}(\varpi, \omega, \tau) = \frac{\max\{\varpi, \omega\}}{\tau + \max\{\varpi, \omega\}},$$

$$\mathcal{O}(\varpi, \omega, \tau) = \frac{\max\{\varpi, \omega\}}{\tau}.$$

For all $\varpi, \omega \in \Omega$ and $\tau > 0$. Then, $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ is a complete NMS. Let $\xi, \zeta: \Omega \rightarrow \Omega$ be given respectively by the formulas $\xi\varpi = \frac{\varpi}{3}$ and $\zeta\varpi = \varpi$ for all $\varpi \in \Omega$. Let $\psi, \alpha: [0, +\infty) \rightarrow [0, +\infty)$ be given respectively by the formulas. If $\Phi(\tau) = \tau$, $\psi(\tau) = \frac{\tau}{6}$ and $\alpha(\tau) = \tau$ and $c = \frac{1}{2}$, then $\xi\Omega \subseteq \zeta\Omega$. All circumstances of Theorem 2.2 are fulfilled and 0 is a coincident point. Moreover, (ξ, ζ) is a weakly compatible pair of mappings, thus the coincidence point is also the CFP of ξ and ζ .

3. APPLICATION TO FREDHOLM INTEGRAL EQUATION

Let $\Omega = C([e, g], \mathbb{R})$ be the set of all the continuous functions with the domain of real values and defined on $[e, g]$.

Now, we let the integral equation

$$\varpi(l) = f(j) + \delta \int_e^g F(l, j)\varpi(l)\sigma j \text{ for } l, j \in [e, g], \tag{3.1}$$

where $\delta > 0$, $f(j)$ is a function of $j: j \in [e, g]$ and $F \in \Omega$. Define \mathcal{M}, \mathcal{N} , and \mathcal{O} by

$$\mathcal{M}(\varpi(l), \omega(l), \tau) = \sup_{l \in [e, g]} \frac{\tau}{\tau + |\varpi(l) - \omega(l)|} \text{ for all } \varpi, \omega \in \Omega \text{ and } \tau > 0,$$

$$\mathcal{N}(\varpi(l), \omega(l), \tau) = 1 - \sup_{l \in [e, g]} \frac{\tau}{\tau + |\varpi(l) - \omega(l)|} \text{ for all } \varpi, \omega \in \Omega \text{ and } \tau > 0,$$

and

$$\mathcal{O}(\varpi(l), \omega(l), \tau) = \sup_{l \in [e, g]} \frac{|\varpi(l) - \omega(l)|}{\tau} \text{ for all } \varpi, \omega \in \Omega \text{ and } \tau > 0,$$

with CTN and CTCN defined by $\pi * \mu = \pi\mu$ and $\pi \diamond \mu = \max\{\pi, \mu\}$.

Then, $(\Omega, \mathcal{M}, \mathcal{N}, \mathcal{O}, *, \diamond)$ be a complete NMS. Assuming that

$$|F(l, j)\varpi(l) - F(l, j)\omega(l)| \leq |\varpi(l) - \omega(l)|$$

for $\varpi, \omega \in \Omega$, $\Phi \in (0, 1)$ and $\forall l, j \in [e, g]$. Also consider $(\delta \int_e^g \sigma j) \leq \Phi < 1$. Then, the integral equation in equation (3.1) has a unique solution.

Proof: Define $\zeta: \Omega \rightarrow \Omega$ by

$$\zeta\varpi(l) = f(j) + \delta \int_e^g F(l, j)e(l)\sigma j \text{ for all } l, j \in [e, g].$$

The existence of a FP of the operator ζ is equal to the existence of the solution of an integral equation.

Now, for all $\varpi, \omega \in \Omega$, we obtain

$$\begin{aligned} \mathcal{M}(\zeta\varpi(l), \zeta\omega(l), \Phi(\tau)) &= \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |\zeta\varpi(l) - \zeta\omega(l)|} \\ &= \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |f(j) + \delta \int_e^g F(l, j)e(l)\sigma j - f(j) - \delta \int_e^g F(l, j)e(l)\sigma j|} \\ &= \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |\delta \int_e^g F(l, j)e(l)\sigma j - \delta \int_e^g F(l, j)e(l)\sigma j|} \\ &= \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |F(l, j)\varpi(l) - F(l, j)\omega(l)|(\delta \int_e^g \sigma j)} \\ &\geq \sup_{l \in [e, g]} \frac{\tau}{\tau + |\varpi(l) - \omega(l)|} \\ &\geq \mathcal{M}(\varpi(l), \omega(l), \tau), \end{aligned}$$

$$\begin{aligned}
 \mathcal{N}(\zeta\varpi(l), \zeta\omega(l), \Phi \tau) &= 1 - \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |\zeta\varpi(l) - \zeta\omega(l)|} \\
 &= 1 - \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |f(j) + \delta \int_e^g F(l, j)e(l)\sigma j - f(j) - \delta \int_e^g F(l, j)e(l)\sigma j|} \\
 &= 1 - \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |\delta \int_e^g F(l, j)e(l)\sigma j - \delta \int_e^g F(l, j)e(l)\sigma j|} \\
 &= 1 - \sup_{l \in [e, g]} \frac{\Phi(\tau)}{\Phi(\tau) + |F(l, j)\varpi(l) - F(l, j)\omega(l)|(\delta \int_e^g \sigma j)} \\
 &\leq 1 - \sup_{l \in [e, g]} \frac{\tau}{\tau + |\varpi(l) - \omega(l)|} \\
 &\leq \mathcal{N}(\varpi(l), \omega(l), \tau),
 \end{aligned}$$

and

$$\begin{aligned}
 \mathcal{O}(\zeta\varpi(l), \zeta\omega(l), \Phi \tau) &= \sup_{l \in [e, g]} \frac{|\zeta\varpi(l) - \zeta\omega(l)|}{\Phi(\tau)} \\
 &= \sup_{l \in [e, g]} \frac{|f(j) + \delta \int_e^g F(l, j)e(l)\sigma j - f(j) - \delta \int_e^g F(l, j)e(l)\sigma j|}{\Phi(\tau)} \\
 &= \sup_{l \in [e, g]} \frac{|\delta \int_e^g F(l, j)e(l)\sigma j - \delta \int_e^g F(l, j)e(l)\sigma j|}{\Phi(\tau)} \\
 &= \sup_{l \in [e, g]} \frac{|F(l, j)\varpi(l) - F(l, j)\omega(l)|(\delta \int_e^g \sigma j)}{\Phi(\tau)} \\
 &\leq \sup_{l \in [e, g]} \frac{|\varpi(l) - \omega(l)|}{\tau} \\
 &\leq \mathcal{O}(\varpi(l), \omega(l), \tau).
 \end{aligned}$$

Therefore, all circumstances of Corollary 2.1 are fulfilled. Hence, operator ζ has a single FP. This implies that integral **Eq. (3.1)** has a unique solution.

4. CONCLUSION

In this research paper, some common fixed-point (CFP) theorems were discussed and proved in the context of G-complete neutrosophic metric space using the alternating distance function (ADF) and defined neutrosophic (Φ, ψ) -weak contraction. This work can be extended further in the context of neutrosophic b-metric spaces and neutrosophic b-metric like spaces.

Conflict of Interest Statement

There is no conflict of interest among author of this article.

References

1. Zadeh LA. Fuzzy sets. *Info Cont.* 8;1965.
2. Atanassov K. Intuitionistic fuzzy sets, fuzzy sets and systems.1986;20:87-96.
3. Alaca C, Turkoglu D, Yildiz C. Fixed points in intuitionistic fuzzy metric spaces. *Chaos Solit Frac.* 2006;29(5):1073–1078. <https://doi.org/10.1016/j.chaos.2005.08.066>
4. Kramosil I, Michalek J. Fuzzy metric and statistical metric spaces. *Kybernetika.* 1975;11:336-344.
5. Park JH. Intuitionistic fuzzy metric space. *Chaos Solit Frac.* 2004;22(5):1039-1046. <https://doi.org/10.1016/j.chaos.2004.02.051>
6. Turkoglu D, Alaca C, Yildiz C. Compatible Maps and Compatible Maps of Types (σ) and (β) in intuitionistic fuzzy metric spaces. *Demonstr Math.* 2006;39(3):671-684. <https://doi.org/10.1515/dema-2006-0323>
7. Khan MS, Swaleh M, Sessa S. Fixed points theorems by altering distances between the points. *Bull Aust Math Soc.* 1984;30(1):1-9. <https://doi.org/10.1017/S0004972700001659>
8. Kumar S, Garg SK, Vats RK. Fixed point theorems for coincidence maps in Intuitionistic fuzzy metric space. *Int J Math Anal.* 2010;11(4):537-545.
9. Saleem N, Agwu IK, Ishtiaq U, Radenović S. Strong convergence theorems for a finite family of enriched strictly pseudo contractive mappings and Φ t-enriched Lipschitzian mappings using a new modified mixed-type Ishikawa iteration scheme with

- error. *Symmetry*. 2022;14(5):e1032.
<https://doi.org/10.3390/sym14051032>
10. Saleem N, Javed K, Uddin F, Ishtiaq U, Ahmed K, Abdeljawad T, Alqudah MA. (2022). Unique Solution of Integral Equations via Intuitionistic Extended Fuzzy b-Metric-Like Spaces. *Comp Model Eng Sci*. 2022;135:1-23. <https://doi.org/10.32604/cmescs.2022.021031>
 11. Ali U, Alyousef HA, Ishtiaq U, Ahmed K, Ali S. Solving nonlinear fractional differential equations for contractive and weakly compatible mappings in neutrosophic metric spaces. *J Func Spac*. 2022;2022:e1491683. <https://doi.org/10.1155/2022/1491683>
 12. Al-Omeri WF, Jafari S, Smarandache F. Weak contractions in neutrosophic cone metric spaces via fixed point theorems. *Math Prob Eng*. 2020;2020:e9216805. <https://doi.org/10.1155/2020/9216805>
 13. Al-Omeri WF, Jafari S, Smarandache F. Neutrosophic fixed point theorems and cone metric spaces. *Neutroso Set Sys*. 2019;31.
 14. Hussain A, Ishtiaq U, Ahmed K, Al-Sulami H. On pentagonal controlled fuzzy metric spaces with an application to dynamic market equilibrium. *J Func Spac*. 2022;2022:e5301293. <https://doi.org/10.1155/2022/5301293>
 15. Jhangeer, A., Faridi, W. A., Asjad, M. I., & Inc, M. (2022). A comparative study about the propagation of water waves with fractional operators (in press). *J Ocean Eng Sci*. 2022. <https://doi.org/10.1016/j.joes.2022.02.010>
 16. Asjad MI, Faridi WA, Jhangeer A, Ahmad H, Abdel-Khalek S, Alshehri N. Propagation of some new traveling wave patterns of the double dispersive equation. *Open Phy*. 2022;20(1):130-141. <https://doi.org/10.1515/phys-2022-0014>
 17. Zhang XZ, Asjad MI, Faridi WA, Jhangeer A, Inc M. The comparative report on dynamical analysis about fractional nonlinear drinfeld-sokolov-wilson system. *Fractals*. 2022;30(5):e2240138. <https://doi.org/10.1142/S0218348X22401387>
 18. Asjad MI, Faridi WA, Jhangeer A, Aleem M, Yusuf A, Alshomrani AS, Baleanu D. Nonlinear wave train in an inhomogeneous medium with the fractional theory in a plane self-focusing. *AIMS Mathematics*, 2022;7(5):8290-8313. <https://doi.org/10.3934/math.2022462>
 19. Beg I, Vetro C, Gopal D, Imdad M. (ϕ, Ψ) -weak contractions in intuitionistic fuzzy metric spaces. *J Intell Fuzzy Sys*. 2014;26(5):2497–2504. <https://doi.org/10.3233/IFS-130920>

20. Kirişci M, Simsek N. Neutrosophic metric spaces. *Mathe Sci.* 2020;14:241-248. <https://doi.org/10.1007/s40096-020-00335-8>
21. Sowndrarajan S, Jeyarama M, Smarandache F. Fixed point results for contraction theorems in neuromorphic metric spaces. *Neutros Sets Sys.* 2020;36:310-318.
22. Schweizer B, Sklar A. Statistical metric spaces. *Pacific J Math.* 1960;10:313-334.
23. Jungck G, Rhoades BE. Fixed point for set valued function without continuity. *J Pure Appl Math.* 1998;29(3):227-238.
24. Gregori V, Sapena A. On fixed point theorems in fuzzy metric spaces. *Fuzzy Sets Sys.* 2002;125(2):245–253. [https://doi.org/10.1016/S0165-0114\(00\)00088-9](https://doi.org/10.1016/S0165-0114(00)00088-9)